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@Adding/Subtracting Radicals|

Warm Up: Simplify.
¢ (—dx+5r+2) + (v2x F3y + 1)

~y *5\/42'4—2—?:;3\,11’ [
[2%+2y+3

*We just combined like TERMS...with radicals it's the same idea; combine like RADICALS.*

Ex.) Simplify the following radicals.

a) 5_«_/_%—2@ b) V128 — /16 — /54
=3V
A VRO + 1®+ V83 — V60)

= - (-7
=\4-5 +{92 +_S -7
=2J5 +DJ2 +3]5-5/=

_— \ A~~~

=\37s -25= |
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Ex.) Now with variable radicands...Simplify:

a) 5_»\{;‘ + 5_)6‘ - 4»»1.5_{ b) ;E)EE'I) + ;lgjb

=\HIx = Salb +2alb
=1_‘70\J_\;, L20
aefX

Ex.) Now with more than one set of like terms...Simplify:

fPr—

a) 2J/x — 3y + 5y + 2yl y = 0 b) 8J2x + 7 2x—5@+\ﬂ,\:\30

I

71K ~Vy | > D=
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Ex.)
a) 6vx — 4/x + 2vx HWax = 0 b) v3a + +/T6a — Oa,a = 0
:‘5\{7) = 2a+Ha-3a

-
©) Seyf24¢’ — 7/54¢° + €4f6e + 6ee = 0
=5€. Ybe'e “q\jq-(,e’&c"c + e’_l\SE + QC

=Oe 2e JCe - F 3 ie +e2 Lo +be
=107 \6e -2l€"Jioe +1*J6e +6e
=‘- \Oe’zm

Ex.) Problem Solving: Sz
i 50 m? 51z

20| Ame | \Fm3
sHTC=28's: 51z

Virs ST no decinadd s \
"_—_——-———'—_—' .
Determine the perimeter of the shape as an - Vfﬁs‘f:&\;\?or\%
= V7 4517 +BZ 20T + 20 +25E +5{2 -20C
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